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QUESTION 1

A client is diagnosed with diabetic ketoacidosis. The nurse should be prepared to administer which of the following IV
solutions? 

A. D5in normal saline 

B. D5W 

C. 0.9 normal saline 

D. D5in lactated Ringer\\'s 

Correct Answer: C 

(A) D5in normal saline would increase serum glucose. (B) D5W would increase serum glucose. (C) A concentration of
0.9 NS is used to correct extracellular fluid depletion. (D) D5in Ringer\\'s lactate would increase serum glucose. 

 

QUESTION 2

A client has been diagnosed with thrombophlebitis. She asks, "What is the most likely cause of thrombophlebitis during
my pregnancy?" The nurse explains: 

A. Increased levels of the coagulation factors and a decrease in fibrinolysis 

B. An inadequate production of platelets 

C. An inadequate intake of folic acid during pregnancy 

D. An increase in fibrinolysis and a decrease in coagulation factors 

Correct Answer: A 

(A) During pregnancy, the potential for thromboses increases owing to the increased levels of coagulation factors and a
decrease in the breakdown of fibrin. (B) An inadequate production of platelets would result in thrombocytopenia with
resulting signs and symptoms of bleeding such as petechiae, hematuria, or hematemesis. (C) A deficiency of folic acid
during pregnancy produces a megaloblastic anemia. It is usually found in combination with iron deficiency. (D) This
combination would result in bleeding disorders because more fibrin would be broken down and fewer clotting factors
would be available. 

 

QUESTION 3

In evaluating the laboratory results of a client with severe pressure ulcers, the nurse finds that her albumin level is low.
A decrease in serum albumin would contribute to the formation of pressure ulcers because: A. The proteins needed for
tissue repair are diminished. 

B. The iron stores needed for tissue repair are inadequate. 

C. A decreased serum albumin level indicates kidney disease. 

D. A decreased serum albumin causes fluid movement into the blood vessels, causing dehydration. 
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Correct Answer: A 

(A) Serum albumin levels indicate the adequacy of protein stores available for tissue repair. (B) Serum albumin does not
measure iron stores. (C) Serum albumin levels do not measure kidney function. (D) A decreased serum albumin level
would cause fluid movement out of blood vessels, not into them. 

 

QUESTION 4

A measurable outcome criterion in the nursing care of an adolescent with anorexia nervosa would be: 

A. Accepting her present body image 

B. Verbalizing realistic feelings about her body 

C. Having an improved perception of her body image 

D. Exhibiting increased self-esteem 

Correct Answer: B 

(A) This outcome criterion is inadequate because the term "accepts" is not directly measurable. (B) This outcome
criterion is directly measurable because specific goal-related verbalizations can be heard and verified by the nurse. (C)
"Improved perception of body image" is not directly measurable and is therefore open to many interpretations. (D)
Although long-term goals for the anorexic client should focus on increased self-esteem, this outcome criterion (as
stated) does not include specific indicators or behaviors for which to observe. 

 

QUESTION 5

A 26-year-old client is admitted to the labor, delivery, recovery, postpartum unit. The nurse completes her assessment
and determines the client is in the first stage of labor. The nurse should instruct her: 

A. To hold her breath during contractions 

B. To be flat on her back 

C. Not to push with her contractions 

D. To push before becoming fully dilated 

Correct Answer: C 

(A) This nursing action may cause hyperventilation. (B) This nursing action could cause inferior vena cava syndrome.
(C) The client is allowed to push only after complete dilation during the second stage of labor. The nurse needs to know
the stages of labor. (D) If the client pushes before dilation, it could cause cervical edema and/or edema to the fetal
scalp; both of these could contribute to increased risk of complications. 
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